Upplands BF

IAF fran DM-lagfinal Rond 7:1 2013-03-10

IMP 6ver féltet, 8 bord, 16 par. Antal brickor: 10.

Plac Par Poéng Namn MID
1 3 3.07 Krister Ahlesved - Jonas Petersson 13995 2059
2 202 2.56 UIf Nohrén - Anders Blomé 2798 13107
3 201 1.86 K-G Westlund - Mattias Jonsson 6634 22897
4 302 1.59 Frank Westman - Per-Erik Malmstrom 2822 23472
5 4 1.17 Mats Johansson - Rolf Westman 15014 2821
6 101 0.84 Hakan Lindh - Anders Lovling 6055 18166
7 103 0.60 Johan Safsten - Joakim Nordlindh 35452 35307
8 104 0.31 Per-Ake Pettersson - Olle Morell 9960 2811
9 304 -0.31 Torgny Svensson - Bengt Rosén 11137 2814
10 303 -0.60 Niklas Warne - Mikael Gronkvist 15344 85230
11 301 -0.84 la Borling - Linnea Edlund 89037 34773
12 204 -1.17 UIf Thorsson - Stefan Asplund 8527 11741
13 102 -1.59 Nils-Olof Fridgvist - Thomas Ivarsson 2875 6659
14 1 -1.86 Lena Westman - Margareta Mattsson 18164 13535
15 2 -2.56 Hans Kvick - Bjérn Alenfalk 2878 2828
16 203 -3.07 Matti Hellstrém - Joakim Moller 40401 33431
1 4 KD8 Bésta kontrakt 2 4 E63 Bésta kontrakt 3 442 Bésta kontrakt
Nord v 96 4v O =-420 Ost v EKn6 INT S =2220 Syd v9 44 V =-620
Ingen + D1073 NS + E862 ov + E1084
D943 & ¢ v & NT #KKn9 & ¢ v & NT #Kn109863 & ¢ v & NT
41094 & EKn73 N56 335 4Kn1085 &KD742 N 119 137 13 4 EKKNn109 D863 N6 45314
vD53 vEKn1l074 S 5 6 3 3 5 v5 v43 S 119 137 13 v 64 vKKn1032 S 6 4 5 3 4
¢K95 ¢Kn4 O 8 6 109 8 ¢ DKn753 ¢ 104 014060 + KDKn7 496 06 9 8 109
#EK85 #62 vV 8 6 109 8 &D73 #10854 V14060 KD &»E2 V 6 9 8 109
4 652 49 475
v K82 v KD109872 v ED875
+ E862 + K9 4532
#Kn107 *E62 »754
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
1201 3NV-1 *7 50 49.0 -49.0| 3 203 7v S= 43 2210 91.0 -91.0| 2 202 54 V-1 v9 100 60.0 -60.0
4 204 Pass 39.0 -39.0 1201 6vy S+1 #J 1460 -11.0 11.0|101 301 54 V-1 v9 100 60.0 -60.0
104 304 INV+2 K -150 14.0 -14.0| 4 204 6v S+1 4J 1460 -11.0 11.0|103 303 54 V-1 v9 100 60.0 -60.0
101 301 3y O+1 &2 -170 6.0 -6.0[101 301 6v S+1 &J 1460 -11.0 11.0 1 201 44 V= v9 -620 -36.0 36.0
102 302 3v O+1 #J -170 6.0 -6.0(102 302 6v S+1 4J 1460 -11.0 11.0| 3 203 44 V= v5 -620 -36.0 36.0
2 202 4v O = v2 -420 -38.0 38.0|103 303 6v S+1 ¢Q 1460 -11.0 11.0| 4 204 44 V= v9 -620 -36.0 36.0
3203 4v 0= a2 -420 -38.0 38.0|104 304 6y S+1 T 1460 -11.0 11.0|102 302 44 O= a5 -620 -36.0 36.0
103 303 4v O= %] -420 -38.0 38.0| 2 202 64aDO-6 ¢K 1400 -25.0 25.0|104 304 44 O= *4 -620 -36.0 36.0
4 ~ E84 Bésta kontrakt 5 « EKNn1074 Bésta kontrakt 6 & Kn762 Bésta kontrakt
Vast vK8 2NT N =120 Nord v D865 7¢ OD-61400 |Ost v6 4v S =420
Alla + E102 NS +83 ov * K72
#KKn1052 & ¢ v & NT #ED & ¢ v & NT #EKn984 & ¢ v & NT
4 DKn53 #1076 N8 6 7 6 8 485 4 D63 N 8 6 12127 4 K10985 & ED4 N 5 8 105 7
vE10 v D9632 S 8676 8 v2 v K97 S 8 6 12127 vE5 v 983 S 5 8 105 6
+D9764 ¢ Kn5 O56 665 ¢ EKD762 ¢ 10954 027000 +Kn1084 +¢63 O7 4384
SE7 «D63 V576675 210532  #Kn96 V27000 #65 «KD1072 V7438414
& K92 & K92 43
vKn754 v EKn1043 v KDKn10742
+ K83 +Kn + ED95
#984 *K874 *3
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
1201 INN+2 ¢2 150 70 -70| 3 203 5¢DV-4 v6 800 25.0 -25.0| 4 204 4vDS+1 &6 690 53.0 -53.0
101 301 INN+2 v2 150 7.0 -7.0|101 301 5¢DV-4 +8 800 25.0 -25.0 /101 301 4v S+1 ¢J 450 10.0 -10.0
104 304 INN+2 v2 150 70 -7.0 1201 44 N+1 ¢5 650 70 70| 2 202 4v S= ¢J 420 20 -20
3203 INN+1 ¥3 120 1.0 10| 2 202 54 N= ¢9 650 70 7.0 3 203 4v S= «2 420 20 -20
102 302 INN+1 v2 120 -10 10| 4 204 4vy N+1 ¢5 650 -7.0 7.0|102 302 4y S= 6 420 20 -2.0
103 303 INN+1 ¢J 120 -1.0 1.0|102 302 44 N+1 ¢5 650 -7.0 7.0(103 303 4v S= »6 420 20 -20
2 202 INN= v3 90 9.0 9.0(104 304 5v S= +K 650 -7.0 7.0(104 304 4v S= 45 420 20 -20
4 204 2% N= +J 90 -9.0 9.0|103 303 4y S= ¢A 620 -15.0 15.0 1201 4NN-1 *Q -50 -73.0 73.0
7 & KKn5 Bésta kontrakt 8 4 ED653 Bésta kontrakt 9 a4 Bésta kontrakt
Syd vKn72 64 V =-1370 Vast vKn1092 54 N =450 Nord v 8432 5NT V =-660
Alla ¢ DKn975 Ingen ¢ 105 ov + D8542
D10 & ¢ v & NT &K8 & ¢ v & NT #EKn5 & ¢ v & NT
4 ED1073 4962 N14322 4982 a K4 N 117 8 1110 4 K7 4 DKn986 N45 222
vKD8 vE64 S14322 vE5 v K87643 S 117 8 1110 vE76 v KDKn95 S45 232
+K ¢ E102 O 119 101111 ¢+ Kn87632 ¢ K4 026523 + Kn9 + EK6 O 7 7 111010
#Kn963 #EK74 V 129 101111 2102 «D94 V26523 #KD10984 - vV 7 7 111011
484 4 Knl107 & E10532
v 10953 vD v10
+ 8643 +ED9 + 1073
#852 #EKN7653 #7632
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 203 64 V-1 +Q 100 78.0 -78.0| 3 203 3NS+3 ¢3 490 90 -90| 3203 6vDO-1 4A 200 65.0 -65.0
103 303 6# O-1 «2 100 78.0 -78.0|101 301 44 N+2 &4 480 9.0 -90| 4 204 54 Q-2 +3 200 65.0 -65.0
1201 44 V+1 ¢Q -650 -26.0 26.0|104 304 3NS+2 ¢3 460 1.0 -1.0|104 304 64 O-2 +3 200 65.0 -65.0
2 202 5 V= +Q 650 -26.0 26.0( 2 202 44 N+1 v6 450 10 -1.0|101 301 3NO+1 %3 -630 -34.0 34.0
4 204 44 V+1 ¢Q 650 -26.0 26.0( 4 204 44 N+1 v2 450 1.0 -1.0| 2 202 5v V= 2 -650 -39.0 39.0
102 302 44 V+1 ¢Q -650 -26.0 26.0|102 302 3NN+1 ¥3 430 -7.0 7.0|103 303 5v O= vT -650 -39.0 39.0
101 301 3NV+2 ¢Q -660 -26.0 26.0(103 303 3NN+1 v6 430 70 70 1201 3NV+2 T -660 -39.0 39.0
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Par Kontr Ut
3 203 3NS+1 *A
1 201 3NS= +4
4 204 3NS= *4
101 301 3NS= *4
102 302 3NS= *4
103 303 3NS= +6
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